

Kalapet, Pondicherry

Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results

Kalapet, Pondicherry

Home



Result Announced Date: 05/08/2025

#### IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0015

Name of the Student : EDMAN ALLFRED E

Father Name: EVIN RAJ **Mother Name: LEEMA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED SYSYTEM DESIGN	Th.	4	5.00	20.00	С
2	PRINCIPLES OF PROGRAMMING LANGUAGES	Th.	4	5.00	20.00	С
3	DATABASE MANAGEMENT SYSTEM	Th.	3	000	000	F
4	INTRODUCTION TO E-BUSINESS	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 05/08/2025

IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0017 Name of the Student : HARIHARAN S

Father Name: SEKAR **Mother Name: ADHILAKSHMI** 

1	DATABASE MANAGEMENT SYSTEM	Th.	3	000	000	F
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

<u>Click here to view Subjectwise Details</u> <u>Print</u>

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results

Kalapet, Pondicherry

Home

**Mother Name: KARPAGAM** 



Result Announced Date: 05/08/2025

Results

#### IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0027

Name of the Student : KAVIYARASU S

Father Name: SUBRAMANIAN

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED SYSYTEM DESIGN	Th.	4	5.00	20.00	С
2	PROGRAMMING WITH VISUAL BASIC	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results

Kalapet, Pondicherry

Home



>>> Result Announced Date: 05/08/2025

Results

IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0029

Name of the Student : KEERTHIVASAN V

Father Name: VEERASAMY **Mother Name: SELVI** 

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	PRINCIPLES OF PROGRAMMING LANGUAGES	Th.	4	6.00	24.00	В	
2	PROGRAMMING WITH VISUAL BASIC	Th.	3	5.00	15.00	С	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Kalapet, Pondicherry

Home



>>> Result Announced Date: 05/08/2025

#### IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0030 Name of the Student : KEVIN A

Father Name: AROKIA RAJ **Mother Name: LETCHOUMY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED SYSYTEM DESIGN	Th.	4	5.00	20.00	С
2	DATABASE MANAGEMENT SYSTEM	Th.	3	000	000	F
3	INTRODUCTION TO E-BUSINESS	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



Home



Results



Kalapet, Pondicherry

Home



Result Announced Date: 05/08/2025

Results

IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0033

Name of the Student : MOHAMED FAJIL J

Father Name: JALEEL **Mother Name: SHAKEERA BANU** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	OBJECT ORIENTED SYSYTEM DESIGN	Th.	4	5.00	20.00	С
2	PROGRAMMING WITH VISUAL BASIC	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



Home



Results

Kalapet, Pondicherry

Home



>>> Result Announced Date: 05/08/2025

Results

IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0036

Name of the Student: MOHAMMED FARVESE S

**Father Name: SARBUDEEN Mother Name: FATHIMA NATCHIAL** 

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	OBJECT ORIENTED SYSYTEM DESIGN	Th.	4	4.00	16.00	Р	
2	PRINCIPLES OF PROGRAMMING LANGUAGES	Th.	4	5.00	20.00	С	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



Home



Results



### **PONDICHERRY UNIVERSITY**

Kalapet, Pondicherry

Home



>>> Result Announced Date: 05/08/2025

IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0051

Name of the Student : SIVANODHAYAN S

Father Name: SIVA **Mother Name: VINODHA** 

1	PROGRAMMING WITH VISUAL BASIC	Th.	3	4.00	12.00	Р
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

<u>Click here to view Subjectwise Details</u> <u>Print</u>

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Home



Results



SI. No.

1

### **PONDICHERRY UNIVERSITY**

Kalapet, Pondicherry

Home



Result Announced Date: 05/08/2025

Results

### IV Semester B.Sc. Computer Science MAY 2025 Examinations

Reg. No.: 22CS0059 Name of the Student : YAASIR S

Th

Pr

Th.

Father Name: SULTAN ARIF MARICAR

3	5.00	15.00	С
Credit	Grade	Credit	Grade
Hours	Point	Point	

**Mother Name: HABIP NISAH** 

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

<u>Click here to view Subjectwise Details</u> <u>Print</u>

INTRODUCTION TO E-BUSINESS

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

**Subject Name**